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TE OF TECHNOLOGY,

ACCREDITED WITH A+ GRADE BY NAAC

Sub | ' ENGINEERING MATHEMATICS Il 1 Internal Test B ' Code |
Date 07/09/2018 { Duration {90 mins { Max Marks 50 Sem llI | Branch CSB,C
Question 1 is compulsory. Answer any SIX questions from the rest. Marks OBE
The following table gives the variations of a periodic current A overaperiod T. | | |
‘ Show that there is a constant part of 0.75 amp in the current A, and obtain the
: amplitude of the first harmonic.
| 1 t(sec) 0 T/6 /3 T/2 21/3 5T/6 T 08 | C301.1
|
Alamp) | 1.98 1.30 1.05 130 | -0.88 | -025 | 1.98
; S| ETRp—— - .y
2. | For the function f(x) = x(L — x), obtain the half range cosine series and sine series over the interval
L ©L) - i LY g |
. ) ) 2—-x, O<x<4
3. | Find the Fourier expansion for the function f(x) = | C301.1
. —6, 4<x<8 L
|
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. Sub ' ENGINEERING MATHEMATICS IIT I Internal Test i Code E 17TMAT31
| Date 07/09/ 2018 1 Duration |90 mins Max Marks ?SO . Sem |III | Branch ; CSB,C
Question 1 is compulsory. Answer any SIX questions from the rest. Marks OBE
The following table gives the variations of a periodic current A over a period T.
Show that there is a constant part of 0.75 amp in the current A, and obtain the
amplitude of the first harmonic.
L. t(sec) 0 T/6 T/3 T/2 2T/3 5T/6 T 08 C301.1
Afamp) 1.98 1.30 1.05 1.30 -0.88 -0.25 1.98
|2 For the function f(x) = x(L — x), obtain the half range cosine series and sine series over the interval
|7 oL)
P R R | 07 c3onl
2—x, O<x<4
3. | Find the Fourier expansion for the function f(x) = 07 | C301.1
x—6, 4<x<8 .

S i

17TMAT31

L3

L3

L3 |

lL3

|




'''' Obtain the Fourier series for the function i(x) given by T _
2x
1+——,~?ZSJCSO, ] 1 1 ﬂ,z
i(x) = 2 Deduce that — + — 4+ — +......... =—.
4. 2x 1> 35 8
|l-——0<x<7x
4 07 c3011
Sketch the graph of the function(triangular wave form)in —z < x < 7.
I 1] x| x| < . - z’"*"";r' 07 | c3012 | L3
5. Find the Fourier transform of f(x) = 0 | | . Hence deduce that I Xy = 2
o - o e —'2 777777 07 a2 1
6. [Find the Fourier transform of exp(—a“x") . Show that f (x) = CXp\- A is self reciprocal
Ww.r to Foumel t1ansf01m
I o - - . - - 07 | C301.2 |
e i
7. | Find the Fourier cosine transform of f(x) = ,a>0,x=0
' F2 o - 1 107 | C301.2
| Fn sin| 7% |
‘ If 0<n<l,provethat F,(x"") = 1, ( ) Hence deduce that f(x) = — is self !
8. Jx |
reciprocal with respect to Fourier sine transform.
Obtain the Fourier series for the function i(x) given by = T -
2x
1 + _,—ﬂ: S X g 0, 1 I 1 2
. T T
4 i{x) = x Detycethal — b fomedsiriiia =—.
' 1-==0<x<n 35 8 ,
4 07 | 3011
Sketch the graph of the function(triangular wave form)in —7 <x < 7.
S - N syt e P RO T
x Hl sin® x b2
| 5. | Find the Fourier transform of f(x) = { 0| l } ll . Hence deduce that j dx = 5
- - 77727 5 - o 72 " - ] 07'“{“_6301.2 i
6.  Find the Fourier transform of €Xp(—@°Xx") . Show that f (x)= eXP( A J is self reciprocal '
W.I. to FOUI ier transfmm
. - S 107 | c301.2
7. . Find the Fourier cosine transform of
. - ey Fn N v a2 L
If 0 <n<I1,prove that F, (x"" l) si [ J Hence deduce that f(x) = is self
s. Jx
- reciprocal with respect to Fourier sine transform.
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